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Write notes on :

(a) Methods of apportionment of joint costs over joint products

(b) Treatment of Research and Development costs in cost
accounts _

(c) Slow, Non-Moving and Obsolete materials.
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Process Output  %age of normal Value of scrap

1. (a) “Limitations of financial accounting have made the .
(units) loss of input per unit (Rs.)

management realise the importance of gost accounting.” ; 950 59 ‘ 5

o . ¢ I 840 10% 4

“Rrcfia A@ieT e ¥ S S anh a@ied , I 750 15% 5

@ "Aed & usqy femr far ) froefy #ifsay 5 Preparé three ProccssAccomts,Abnornml loss/gain Accounts,

(b) Hari has started business with a fleet of 10 taxis. The Normal loss Account. 15

various expenses incurred are : ' @ X 99 Rfte wfbael @ IR & 91w S S

Costofcachtaxi—Rs.75,000;3513ryof0fﬁcestaff~Rs. ( / ( 131 ST @mm%mﬁqwm ‘

1,500 per month; salary of garage staff — Rs. 2,000 per g

month; rent of garage — Rs. 1,000 per month; Driver’s e wRRarl Wk I @R I @'

salary (per taxi) Rs. 400 per month; Roaﬁ tax and repairs yqer qrlt (%o) 2,600 ; 1,980 2962 7.542

(per taxi) — Rs. 2,160 per annum; Insurance premium @ e "Gl (%0) 2,000 3,000 4000 9,000

4% of cost per annum. : IqET IIRET (To) 9,000

The life of a taxi is 3,00,000 km, at the end of which it is ofEaT 1 5 3 Bo WY P 2 WA 1000 THEG AT FE

estimated to be sold for Rs. 15,000. A taxi runs on an : @.m%mﬁmﬁﬁ‘mmqﬁgmm

average 4,000 km per month, of which 20% it runs vacant. '. Irdfafifa o w8 gni Eﬁfﬁ wfthar &1 SqET 99

Petrol consumption is 9 km per litre of petrol costing Rs. ) G‘T‘ﬁﬂ-m ¥ o © ol e o H SO 9 @ ©iE

6.30 per litre. Oil and other sundry expenses amount to ¥ | Iqres SuReEd W Ty W FT 100% Torar smar

Rs. 10 per 100 km. Calculate the effective cost of running  ( { ¥ afefaa wﬁf .

a taxi per kilometre. e SARA AE & arry e T

R 7 10 TRA & 3 & wrw HEE S AT | S (sFd) @i 3 W wRy T (S0)

fafter =rm fost & - . I 950. 5% 2

yaE Yl # A 75,000 To; HEGA wH B o 10% 4

AL 1,500 Bo URT FE; I R F AT 2,000 . i P
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g9 2 o Ui ITE; vy Fq: e 1,50,000 o gfa

ae : qRadasie 5 o ufar sE; srd-uRad=siar 50%
&R T 50,000 Bo U I A AT F WAE 25%

T S W H &ar ¥ gRE W 10,000 o & Aftrw

| HREM § Sae R omyt & few o @,

AW Ty B R 78 | wa= @ 3 ¥ R 1,00,000
aowﬁraﬁéiramgﬁﬁaaz%lmﬁww( -+ (
W ¥ : ad & wew dF W e & 50%; 9 A -
e &aT B 80% diwa fmd YW, R W yaE

@ @ w faa @ W, @ e Dk R

T fereror, wairafe SuRera @ e #ifg) 10

" go Uit A1E; e R 1,000 To wfe AE; gEAX &

T (afr 2a) 400 To WhY wE; Vs o e AOwA
(sfer ) 2,160 Bo f ¥, e W @ T
4% uf o |

s ¥R @ S 8,00,000 fEeriet %, Res
1= TEH 15,000 To F faw T & I ¥ 1 T
Y 4,000 ffto wfey wre S Twdt & R 20%
& €@t awdl &1 W & 'uw 9 e iy dex
% R ara 6.30 o Wiy WeX ¥ A aUr o
T =g 10 o 9ir 100 fefto g ¥

w Y @ e @ oy Ao @y wr

Fremferg ) i 10
-5. Product X is obtained after it passes through three distinct Or (3van) ;
processes. Following information for week ending 31 October : (a) Distinguish between ‘cost’, ‘e aa A a®
is given :
. T, =g aen wfy F fade il 5
Particulars Process I Process Il Process IIl Total

Direct Material (Rs.) 2,600 1,980 2962 7,542
Direct Wages (Rs.) 2,000 3,000 4000 9,000
Production Overhead (Rs.) - 9,000 ( (
1,000 units at Rs. 3 each were introduced in Process 1. There
was no stock of material or work in progress at the beginning
or at the end of the period. The output of each process passes
direct to the next process and finally to finished stock. Production
overhead cost is recovered on 100% of direct wages. Additional

information : :
3138 14 3138

(b) Y & Co. undertook a contract for Rs. 15,00,000 on an

arrangement that 80% of the value of work done as certified
by the architects of the contractee, should be paid
immediately and the remaining 20% be retained until the
contract is completed.
In 2014 the amounts expended were : Materials Rs.
1,80,000; wages Rs. 1,70,000; carriage Rs. 6,000; cartage
Rs. 1,000; sundry expenses Rs. 3,000. The work was
3 P.T.O.
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certified for Rs. 3,75,000 and 80% of this was paid as
agreed. i ‘

In 2015, the amounts expended were : Materials Rs.
2,20,000; wages Rs. 2,30,000; carriage Rs. 23,000; cartage
Rs. 2,000; sundry expenses Rs. 4,000. Three-fourths of
the contract was certified as done on 31 December and
80% of it received accordingly. The value of work in
progress uncertified was ascertained at Rs. 20,000. (
In 2016, the amounts expended were : Materials Rs.
1,26,000; Wages Rs. 1,70,000; cartage Rs. 6,000; sundry
expenses Rs. 3,000 and on 30 June the whole contract
was completed.

Show the Contract Account and also the Contractee’s
Account as would appear for each of years in the books
of the contractor assuming that balance due to him was
received on completion of the contract.

Y & Co. ¥ 15,00,000 o & T& HAa forar | =aen
e @ i gof fq &, ot SwEmr & aRgeEr B
YA BT 8, & T &7 80% mglmmgﬁrz’m%(
T 9T 20% ST [ BN T AT ATA |

2014 ¥ =g @ W ufdr o : @Rl 1,80,000 To;
gl 1,70,000 %o; ga1s 6,000 To; HIFT 1,000 To,
fafaer =@ 3,000 To | 3,75,000 o H HE YW

4
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Or (amn)

(a) Distinguish between product costs and period costs.

JAE AT a0 SEfer @nra § 9T i 5

(b) VK Works can produce 60,000 units per annum at its

optimum 100% capacity. The estimated costs of production
are: Direot Materisl Rs. 3 pet unit: Divect Labour Rs, 2
per unit; Indirect expenses : Fixed Rs. 1,50,000 per annum;
Variable Rs. 5 per unit; Semi-Variable Rs. 50,000 per annum
upto 50% capaqity and an extra expense of Rs. 10,000 for
every 25% increase in capacity or part thereof. Factory
préduced only against orders and not for own stock. The
management desires to ensure a profit of Rs. 1,00,000 for
the year. The production programme of the factory is :
first three months of the year — 50% of the capacity;
remaining nine months — 80% of the capacity. :

Work out the average selling price at which each unit would
be quoted. Ignore selling and distribution, administration
overheads.

AT SAHEAT & W A wWH VK g 60,000
o Ui 9 & SART @ Al § 1 ST @
ST T € : Y WEE 3 o WRY T gow
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at 20% on prime cost. Administration overhead is recovered at
60 paise per unit of production, Selling and Distribution
overheads at 80 paise per unit sold. Prepare Profit and Loss
Account as per financial records and as per cost records. Also

reconcile the Profit as per the two records.

vV fio & wfaew & waw a¥f & facig @l § =
dites fodr ™ ¥

TR W STHAT 50,000 Fo; IARH AGd 30,000 To;
FHREMT IR 16,000 To; IIMHH IIRAT 7,000 Fo;
fera @ Ryaror Sufteaa 9,600 Bo; g@a FoT Sufafad
800 To; WrIfE T JuffEd 400 To; ~TfAEH I 100
Fo; WIS W 1,000 To; ¥ FHT W W AT 200 To;
faFT (12000 THTE) 1,20,000 To; TR W FT AT ©iH
(400 3HTE) 3,200 To; wfasiier &l &1 Af~aw wiF 2,400
%o |

S Safty & AT @t & YaT = o Woer [ SaHT
56,000 To &T| HRE@MT SURAT Td @A & 20% W
T W ¥ | weratae suitery gy 3 S 60 Y@
|/ war o &, e aur e suRera so ¥ wfw S=
¢ g § wmar sran ) Ry Reet aor aea Red
® IAER B @rar s9ed | S R&E & A w6
e o B 15

12
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fofai AT T 99D 80% WM, T Al & STFAR, H
fRar

2015 ¥ =@ @ T RN A : WA Fo 2,20,000;
Tl To 2,30,000; HIST To 23,000; FATS To 2,000;
fafyer =19 Bo 4,000. AT FN FT-AUE AT 31
farr @t of gom wilE & T T qSgEn 80%
& YA e T s aRees ¥ s o
20,000 % FrefRa gami

2016 ¥, |UEN To 1,26,000; FWEH Fo 1,70,000; HIST
To 6,000; fAfE =@ Fo 3,000 FT 30 [ H AITH
B AT

I @rar AR JwErr & @ fawy S 6
ae 3R # g # yfy af e, aE wed g
5 SE W @Y AT @ BN W I W ®
T | 10

(a) Whatis absorption of overheads? Explain briefly methods
for absorption of Office and Administrative overheads.
Sufteadl &1 SEgieer F9r g &7 HAfwd q@l

- Tt SuRerdt & sraimer i RAftwt @ wea J
AT | 5

(b) The total overhead expenses of a factory are Rs. 4,46,380.
Taking into account the normal working of the factory,
overhead cost was recovered in production at Rs. 1.25
per hour. The actual hours worked were 2,93,104. How
would you proceed to close the books of accounts, assuming

5 PTO.



that Besides 7,800 units produced (of which 7,000 were
sold), there were 200 equivalent units in work-in- progress.
On investigation, it was found that 50% of the unabsorbed
overheads were on account of increase in cost of indirect
material and indirect labour and the remaining 50% were
due to factory inefficiency. Also give the profit implication
of the method suggested.

TS HRE@H & W IURGT 4,46,380 To ¥ | HR@M B
A REEE @ dd g4, SURET @R & IdEd
# 1.25 To ¥f woer & Rww & et ) wH F
areafa® qU 293104 &\ AT Gl B JEH B HE
YER ¥ HA, T8 AT §A B 7,800 THEAT
s fear mar (Rrad & 7000 R ) @@ 200
T gwrEal -l s # ) Site g @
f& sr-srasifya SuReml #1 50% sTweyer arnft arTd
AR SATE 59 AT B g B BRI AT T4 A 50%
HREHT e & HRoT| gAw W A & aw
ffRaret w9 SR 10

Or (3rrn)

(a) What are the methods of secondary distribution of

3138

overheads? Explain these methods briefly for reciprocal

services.

e} @ fadtas Breor %1 Rt Far B oweris
darelt & o 3 Rt & dta & wwasd) 5
6

M N 0
QT SR AT (RRme) 20,000 15,000 20,000

Jmqfel (wreTieE)
e 2 4 3
s 3 5 4
Siferman 4 6

TUET HINT :

(i) M@ Fream &g &'

(ii) N =1 Siftraw & w1

(ii) O &1 Y7 SRY &R

(iv)M &1 \a &9 w 10

4. The following figures have been extracted from the Financial

Accounts of V Ltd. for the first year of operation :

Direct Material Consumption : Rs. 50,000; Productive wages :
Rs. 30,000; Factory overheads : Rs. 16,000; Administration
overheads — Rs. 7,000; Selling and distribution overheads -
Rs. 9,600; Bad debt written off — Rs. 800; Preliminary expenses
written off — Rs. 400; Legal charges — Rs. 100; Dividend
received — Rs. 1,000; Interest received on bank deposits — Rs.
200; Sales (12,000 units) Rs. 1,20,000; Closing stock of finished
goods (400 units) — Rs. 3,200; Closing stock of work-in-progress
—Rs. 2,400.

The cost accounts for the same period reveal that direct material
consumption was Rs. 56,000. Factory overheads is recovered

3138 11 P.T.O.
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of M, N and O respectively. The re-order levels of M and .
N are 15,000 kg and 10,000 kg respectively while minimum
level of O is 2,500 kg. The weekly production of X varies
from 300 to 500 units while weekly average production is
400 units. The following additional data are given:

M N 0
Reorder Quantity (kg) 20,000 15,000 20,000
Delivery (in weeks) ( ? A
Minimum 2 4
Average 3 5 &
Maximum 4 6 5
Compute :

(i) Minimum stock level of M
(i) Maximum stock level of N
(iii) Reorder level of O

(iv) Average stock level of M.

UF IAE X & Fmior i Feh amiEi M, N aar o
A o e 31 X # A @ § M, N @1 O &
#ag: 10 feamo, 8 fFumo Tum 6 fhuTe & SrAvEwAT (- (
aF ¥ M @ N & g Ry &R A 15,000
formo TEm 10,000 fme & &k O @ fread R
2500 fFTo 1 X #T GTIfRs I@EH 300 {500
T qF AR Far § efe oftwa aranied
TR 400 T ¥ Py iRy oty wuwrT ¥

10 3138

(b) A manufacturing unit has added a new machine to its fleet

of five existing machines. The total cost of purchase and
installation of the machine is Rs. 7,50,000. The machine
has an estimated life of 15 years and expected to realise
Rs. 30,000 as scrap at the end of its working life.

Other relevant data :

Budgeted working hours is 2,400 based on 8 hours per
day for 300 days. This includes 400 hours for plant
maintenance. Electricity used by the machine is 15 units
per hour at a cost of Rs. 2 per unit. No current is drawn
dﬁring maintenance. The machine requires special oil for
heaﬁng which is replaced once every month at a cost of
Rs. 2,500 on each occasion. Three operators control the
operations of the entire battery of six machines and the
average wage per person is Rs. 450 per week plus 40%
fringe benefits. Estimated cost of machine maintenance
is Rs. 500 per week of 6 working days. Departmental
and general overheads allocated to the operation during
the last year were Rs. 60,000. During the current year, it
is estimated that there will be an increase of 12.5% of
this amount. No incremental overhead cost is envisaged
for installing the new machine. Compute the

compreﬁensive machine hour rate of recovery of the

running cost of the machine.

7 PTO.
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e Frafolt 318 7 sra ot e asiel @ @ § o
T AT N & | W @ e T ®er = @ g
T 7,50,000 o TE | A HT A Ste 15 aof
¢ T IED AT HG B UG IEH FAZ A
30,000 To AT &1

A gHRS Hiwe :

300 T & R 8 woer iR } 2400 Ut &7 To1e &1 (
TAH 400 Y9 WO & (@-@E @ o &1 wehe B
wga feoren 15 gfe i v, 2 o ufy gfe & =)
A ¥ E-wEE & A Ao wga 98 & ¥ wsf
¥ wf 7y & R o Ry A9 wge @ € o iy
A& 2,500 To FH TR F, TS IR, oo ATl &

AW B Al & i aRews se ¥ e iy

e e AqT 450 Fo wfw wwE ¥ oqEr 40%
drr @ RA o ¥ 1 6 @l Raw fy wwe @ fd
A AT T@EE A 500 Fo ¢ | fwd af
HrdareT B ararea i g ame Gﬂﬁam(
60,000 To & | A & % 3@ a7 39 12.5% @ g
Brft | it wie & v s F A gfasie sufterm
Repfeaq & &

a3 @ 9REeE @ @ o we qeie geer w
e | | 10

3 l (a) How will you account for and control ‘waste’ and *scrap’
in cost accounts?

A @l ¥ ‘e R s @ g fRe weR
@A BT Y ST e i 5
(b) What ﬁo you understand by overtime premium in cost
accounts? What is the treatment of overtime and how to
 control it? The time card of a worker shows that in a normal
week of 40 hours, he worked for 52 hours at the rate of Rs

15 per hour. Taking overtime premium at 100% of time .

rate, calculate the amount of gross wages.

A @t § st fifta } o & R €
SMERRTET 1 IUAR T BT ¥ SEHN =
THR AT 91g? U FHE & wHg w5 F var ger
f 40 w92 & wwr= waE ¥ 9@ 52 W 15 o
iy w92 &t 5T/ w0 e | Siawersw Wit @ wwg
T H 100% WA §I I GHT AIGY B 0T
HIFT | 10
Or (anar) .

(a) State the basic points in Halsey Incentive Scheme. What
are the advantages and disadvantages of the scheme?
o HITET A @ uw Rege @ Rifed | @
AT & T S st w&w ¥ 5

(b) X is a product manufactured out of three raw materials,
M, N and O. Each unit of X requires 10 kg, 8 kg and 6 kg

3!38. ; 9 - PTO.



